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* negate - return -x
* FExample: {
* lLegal ops: ! ~ &
* Max ops: 5

. .

J* Write solution

below. */
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Write straight-line C c¢ode to implement the code £

-

* isGreater - 1if x > vy then return 1, else return 0
¥ Example: isGreater(4,5) = 0, isGreater(5,4) = 1
* Legal cps: ! ~ & ©° | + << >>

* Max ops: 24

* Rating: 3

e

/

int isGreater(int x, int y) {

/* Write sclution below. */
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liowing € declarations, fill in the type and value S r
2 1 expressior value cannot be known, write a "7?". Also,
state whether 15 known, guarantes Assume
standard C antics and an IA32 machine.

nt = { 1, 2, 3, 4, 5 }; /¥ Array a located at byte address 50 */
Nt = { 7, &, 5, 4, 3, 2, i, T }; /* Array b located at byvte address 50 i
nt = { 8, L, Z }; /T Array o located at byte address 70

nt = { a, <, b };

Expression Type Value Guaranteed
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zome deleted materlial)
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o Upon entry, assume 0 <= x  and oy <= 0

int what _fn ( int x, int v )

/ .. fi11 in from assembler below ... */

i (x <%3 ¢
. ,£

L

% ;

whwike (x 1= 0) §

f—

as compiled into the following assembler code. Fill in the body of
he C-function above to correspond to the assembly code below.

pushi sebp

mov L Fesp, %ebp
movi
mewv L
moy 1
cmpl
Jjge
mow i
mowvi

LZ

decl teax
dec] Fedx
e LLh

xbtra credit: Can this be implemented more efficiently? If so, how?

retucn oW xo
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the following as

Fiil

assembler below.

movl
may L
mey 1

acdl
Ll
subl

S8 (%ebp)

r CJ.
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16 (%ebp), e
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Sadx, %eox
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Show the C transformation steps for the following program; that is,
how 1ts conversion to its whale form, its do-wnile form, bthen 105

oto Lorm.,

int dees_what ( int x, int y )
int ans = ;

ikt o= 05

for (i = 1 ; 1 1= 0 ; i = 1 << 1 3} |
ans = ans | ( x & 1 Y " { v & 1 };

}

return ans;
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WHILE form f DO WHILE form
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